Lab 26

Due Date: See Blackboard

Name:

Value: 3

Complete the following table.

Bits Results
bitl | bit2 | ~bitl | bitl & bit2 bitl | bit2 bitl N bit2
0 0
W
0 1 /
|
1 0
W
1 1 /
|
Given the declaration
unsigned int opnd;
what is the value of each of the following expressions?
opnd & O opnd & ~0
opnd & opnd opnd & ~opnd
opnd | O opnd | ~0
opnd | opnd opnd | ~opnd
opnd ™ 0O opnd ™ ~0
opnd ™ opnd opnd ™ ~opnd
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Lab 26

Due Date: See Blackboard

Use the following declarations and initializations as you evaluate the following

expressions:

unsigned int a

OxB5, b = 0x9D, c = Ox3E;

Answers should be shown in hexadecimal. Assumptions:

* unsigned iIntsare 8 bits in length,

« the rightmost bit in the internal representation (the least significant bit) is

numbered 0, and

* the leftmost bit in the internal representation (the most significant bit) is

numbered 7.
la ~b
lic ~(1b)
1(~a) a & b
la && c b &c
b |] !c alc
b ~c a << 2
c >> 3 getBit(a, 4)

getBits(b, 2, 4)

setBit(c, 3, 0)

setBit(a, 1, 1)

setBits(b, 0, 3, 2)

(c&3) =0 a”n ~a
(b&l)==1 a™b
c & ~C c ™ ~0
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